
𝑛 𝑢𝑛 = 𝑛2 − 4𝑛 + 4

(𝑢𝑛)

𝑛 ℕ 𝑣𝑛 =
1

𝑛(𝑛+1)

(𝑣𝑛)

𝑢𝑛+1 − 𝑢𝑛

𝑢𝑛+1 − 𝑢𝑛 = (𝑛 + 1)2 − 4(𝑛 + 1) + 4 − (𝑛2 − 4𝑛 + 4)

= 𝑛2 + 2𝑛 + 1 − 4𝑛 − 4 + 4 − 𝑛2 + 4𝑛 − 4

= 2𝑛 − 3

𝑢𝑛+1 − 𝑢𝑛

𝑢𝑛+1 − 𝑢𝑛 ≥ 0 2𝑛 − 3 ≥ 0 𝑛 ≥ 1,5

𝑛 ≥ 2 𝑛

 𝑢𝑛+1 − 𝑢𝑛 ≥ 0 𝑢𝑛+1 ≥ 𝑢𝑛 𝑛 ≥ 2

(𝑢𝑛)

𝑣𝑛+1

𝑣𝑛

𝑣𝑛+1

𝑣𝑛
=

1
(𝑛 + 1)(𝑛 + 2)

1
𝑛(𝑛 + 1)

=
𝑛(𝑛 + 1)

(𝑛 + 1)(𝑛 + 2)
=

𝑛

𝑛 + 2

0 ≤ 𝑛 ≤ 𝑛 + 2
𝑣𝑛+1

𝑣𝑛
≤  1 𝑣𝑛+1 ≤ 𝑣𝑛 𝑣𝑛 > 0

(𝑣𝑛)

 

On calcule 𝑢𝑛+1 − 𝑢𝑛 : 
Si 𝑢𝑛+1 − 𝑢𝑛 ≥ 0, 
la suite est croissante.  
Si 𝑢𝑛+1 − 𝑢𝑛 ≤ 0, 
la suite est 
décroissante.  
 


